
Updated info is in yellow - Obsolete/Discontinued items are 
in dark orange

Description for Sales Item ID

Axle Housings
Axle Housing Hon trx400ex '99-08/trx400x '09-10/atc250r '86/trx250r '86-89-dbl row ball brg. hah-b
Axle Housing Hon trx300ex '87-08/trx300x '09-10/trx250x-dbl row ball brg. hax

Axle Housing Hon trx450r '04-10-dbl row ball brg. hah450
Axle Housing Kaw kfx450 '08-10-dbl row ball brg. ksf450ah
Axle Housing Suz lt-r450 '06-09-dbl row ball brg. qr450ah

Axle Housing Suz Z400 '03-08/Suz lt-z400 '09/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-dbl row ball brg. z400ah

Axle Housing Yam Ban350 '87-06-dbl row ball brg. bah
Axle Housing Yam Rap350 '05-10-dbl row ball brg. 27ah
Axle Housing Yam Rap660 '01-05-dbl row ball brg. rah
Axle Housing Yam Rap700 '06-10-dbl row ball brg. rah700
Axle Housing Yam Warrior '90-04-dbl row ball brg. wah
Axle Housing Yam yfz450 '04-05-dbl row ball brg. yah
Axle Housing Yam yfz450 '06-09/yfz450r '09-10/yfz450x-dbl row ball br yah450

Anti-Fade Brake Hubs
Anti-fade Brake Hub/Nut Assembly Hon trx250r '86-89 20-1600

Anti-fade Brake Hub/Nut Assembly Hon trx250x/trx300ex '87-08/trx300x '09-10 20-1601

Anti-fade Brake Hub/Nut Assembly Hon trx400ex '99-08/trx400x '09-10 20-1640

Anti-fade Brake Hub/Nut Assembly Hon trx450r '04-10 20-1643

Anti-Roll Sway Bars
Anti-Roll/Sway Bar Kit fits most extended A-arm ATV's 20-1700w
Anti-Roll/Sway Bar Kit Hon trx450r '06-10 20-1700a
Anti-Roll/Sway Bar Kit Hon trx700xx '09-10 20-1700h
Anti-Roll/Sway Bar Kit KTM 450XC/525XC '08-10 20-1700k
Anti-Roll/Sway Bar Kit Polaris 525, 500 IRS/S (straight axle) '07-10-front kit 20-1700p
Anti-Roll/Sway Bar Kit Suz ltz400 '09 20-1700b
Anti-Roll/Sway Bar Kit Suz lt-r450 '06-09 20-1700s
Anti-Roll/Sway Bar Kit Yam Rap 700 '06-10 20-1700r

Anti-Roll/Sway Bar Kit Yam Raptor 660 '01-05/yfz450 '04-09/Yam yfz450r '09-10/yfz450x '10/Kaw kfx450 '08-10 20-1700y

Anti-Roll/Sway Bar Kit fits most A-arm ATV's 20-1700

Apparel
Apparel-Hat-Navy-Large/X-large hats2
Apparel-Hat-Navy-Small/Medium hats1

Durablue, Inc.
Item List



Apparel-Hoodie Navy-Medium hood1
Apparel-Hoodie-Navy-Large hood2
Apparel-Hoodie-Navy-X-large hood3
Apparel-T-Shirt Black-large tees6
Apparel-T-Shirt Black-medium tees7
Apparel-T-Shirt Black-X-Large tees5
Apparel-T-Shirt Navy-Large tees2
Apparel-T-Shirt Navy-Medium tees1
Apparel-T-Shirt Navy-X-Large tees3

Axles
Axle Apex 70/90/100 '06-08 Elim+1 20-1170p
Axle CanAm DS450/xc/xmx '08-10 Elim +4" 20-1168p
Axle CanAm DS450/xc/xmx '08-10 X-33 w/billet hubs 20-2168ex
Axle CanAm DS650 '00-03 Elim +2" 20-1165p
Axle CanAm DS650/Baja X-'04-07 Elim +2" 20-1166p
Axle Dinli 50/90 '01-10 Elim +5 20-2090sp
Axle DRX50/70/90 '06 Elim +1 20-4090sp
Axle DRX50/70/90 '07-10 Elim +4 20-4091sp
Axle Eton 50/90 '98-10 Elim +4 20-2080sp
Axle Hon trx90/ex '93-08/trx90x '09-10 Elim+3 20-0090sp
Axle Hon 250r '82/200x '82-85 Elim 2+2 (the 200x application requires a '81-82 250r sprocket) 20-1115sp
Axle Hon 250r '83-84 Elim 2+2 20-1117sp
Axle Hon 250r '85 Elim 2+2 20-1129sp
Axle Hon 250r '85 std HD 20-1129
Axle Hon 250r '85 Elim-X33 w/billet hubs 20-2129ex
Axle Hon 250r '85 Elim-X33 w/cast hubs 20-1129ex
Axle Hon 350x '85-87 HD+4 20-1130s
Axle Hon 350x '85-87 std HD 20-1130
Axle Hon trx250ex '01-08/trx250x '09-10 Elim 2+2 20-1158sp
Axle Hon trx250r '86-89 Elim 2+2 20-1151sp
Axle Hon trx250r '86-89 HD 20-1151
Axle Hon trx250r '86-89 X-33 w/billet hubs 20-2151ex
Axle Hon trx250r '86-89 X-33 w/cast hubs 20-1151ex
Axle Hon trx250x/trx300ex '87-08/trx300x '09-10 HD 20-1145
Axle Hon trx250x/trx300ex '87-08/trx300x '09-10 Elim 2+2 20-1145sp
Axle Hon trx250x/300ex '87-08/trx300x '09-10 X-33 w/billet hubs 20-2145ex
Axle Hon trx250x/300ex '87-08/trx300x '09-10 X-33 w/billet hubs 20-1145ex
Axle Hon trx400ex '99-08/trx400x '09-10 Elim 20-1159p
Axle Hon trx400ex '99-08/trx400x '09-10 Elim 2+2 20-1159sp
Axle Hon trx400ex '99-08/trx400x '09-10 HD 20-1159
Axle Hon trx400ex '99-08/trx400x '09-10 X-33 w/billet hubs 20-2159ex
Axle Hon trx400ex '99-08/trx400x '09-10 X-33 w/cast hubs 20-1159ex
Axle Hon trx450r '04-10 Elim 20-1169p
Axle Hon trx450r '04-10 Elim 2+2 20-1169sp
Axle Hon trx450r '04-10 HD 20-1169
Axle Hon trx450r '04-10 X-33 w/billet hubs 20-2169ex
Axle Hon trx450r '04-10 X-33 w/cast hubs 20-1169ex



Axle Kaw 650/700 Prairie '97-06 / kfx700 '03-09/V-Force '03-06/Brute Force 650 '07-10 Elim 2+2 * use 20-1662 or NTN 
6209x18 bearing

20-1144sp

Axle Kaw 650/700 Prairie '97-06 / kfx700 '03-09/V-Force '03-06/Brute Force 650 '07-10 std Elim * use 20-1662 or NTN 
6209x18 bearing

20-1144p

Axle Kaw 650/700 Prairie '97-06 / kfx700 '03-09/V-Force '03-06/Brute Force 650 '07-10 X33 w/billet hubs * use 20-1662 or 
NTN 6209x18 bearing

20-2144ex

Axle Kaw kfx450r '08-10 Elim-std 20-1171p
Axle Kaw kfx450r '08-10 Elim 2+2 20-1171sp
Axle Kaw kfx450r '08-10 HD 20-1171
Axle Kaw kfx450r '08-10 X-33 w/cast hubs 20-1171ex
Axle Kaw kfx450r '08-10 X-33 w/billet hubs 20-2171ex
Axle Kaw Mojave '87-04/Lakota '95-03 250 HD 20-1143
Axle Kaw Mojave '87-04/Lakota '95-03 250 Elim 2+2 20-1143sp
Axle KTM 450xc/525xc '08-10 Elim X-33 w/billet hubs 20-2164ex
Axle KTM 450xc/525xc '08-10 Elim+2 20-1164p
Axle Kymco 250 '07-10 Elim2+2 20-0250sp
Axle Kymco 90 '07-10 Elim+4 20-0390sp
Axle Polaris Predator 500 '03-07/Outlaw 525s '08-10 Elim+2 20-1163p

Axle Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 '98-10 Non-Predator Chain Drive Elim 20-1161p

Axle Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 '98-10 Non-Predator Chain Drive Elim+3 20-1161sp

Axle Polaris Predator 90 '03-06 Elim+4 20-3090sp
Axle Polaris '99-08 Shaft Drive  Elim 20-1162p
Axle Suz lt-r450 '06-09 Elim 2-2 20-1126sp
Axle Suz lt-r450 '06-09 X-33 w/billet hubs 20-2126ex
Axle Suz lt-r450 '06-09 X33 w/cast hubs 20-1126ex
Axle Suz lt-z400 '09 HD 20-1157
Axle Suz lt-z400 '09 Elim 2-2 20-1157sp
Axle Suz lt-z400 '09 X-33 w/billet hubs 20-2157ex
Axle Suz lt-z400 '09 X-33 w/cast hubs 20-1157ex
Axle Suz Q-rcr 250 '85-87 Elim 2+2-24 sp 20-1132p
Axle Suz Q-rcr 250 '85-87 HD-24 sp 20-1131
Axle Suz Q-rcr 250 '85-92 X33 w/cast 5x130mm hubs (available w/4x110 hubs-special order) 20-1132ex
Axle Suz Q-rcr 250 '88-92 Elim 2+2-26sp 20-1134sp
Axle Suz Q-rcr 250 '88-92 HD-26 sp 20-1134
Axle Suz Q-rcr 500 '87-90 Elim 2+2 20-1140sp
Axle Suz Q-rcr 500 '87-90 HD 20-1140
Axle Suz Q-spt ltz 250 '04-05 Elim 20-1138p
Axle Suz Q-spt ltz 250 '06-09/Ozark '02-09 Elim 20-1139p
Axle Suz Q-spt/Z 80 '87-06 Elim+3 20-1133sp
Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim-X33 w/billet hubs 20-2137ex
Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim-X33 w/cast hubs 20-1137ex
Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim 20-1137p
Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim 2+2 20-1137sp
Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 HD 20-1137
Axle Yam Ban '87-06 std/Rap660 '01-05+2/Blstr '88-06+3/Kasea 170/250 '89-07+3 Elim 20-1142p
Axle Yam Ban '87-06 std/Rap660 '01-05+2/Blstr '88-06+3/Kasea 170/250 '89-07 +3 HD 20-1142
Axle Yam Ban '87-06/Rap660 '01-05/Blstr '88-06/Kasea 170/250 '89-07 Elim 2+2 20-1142sp
Axle Yam Ban '87-06/Rap660 '01-05/Blaster '88-06/Kasea 170/250 '89-07 Elim-X33 w/billet hubs (Blaster & Kasea must change 
wheel to 4x115mm)

20-2142ex



Axle Yam Ban '87-06/Rap660 '01-05/Blaster '88-06/Kasea 170/250 '89-07 Elim-X33 w/cast hubs (Blaster & Kasea must change 
wheel to 4x115mm)

20-1142ex

Axle Yam Kodiak '93-95 Elim 20-1148p
Axle Yam Kodiak '96-98/Big Bear '96-98 (2wd only in '98) Elim 20-1150p
Axle Yam Rap250 '08-10 Elim 2+2 20-1156sp
Axle Yam Rap250 '08-10 std HD 20-1156
Axle Yam Rap250 '08-10 x-33 w/billet hubs 20-2156ex
Axle Yam Rap250 '08-10 x-33 w/cast hubs 20-1156ex
Axle Yam Rap350 '05-10 Elim 2+2 20-1127sp
Axle Yam Rap350 '05-10 std HD 20-1127
Axle Yam Rap350 '05-10 std Elim 20-1127p
Axle Yam Rap350 '05-10 Elim X-33 w/billet hubs 20-2127ex
Axle Yam Rap350 '05-10 Elim-X33 w/cast hubs 20-1127ex
Axle Yam Rap660 '01-05/Kasea 170/250 '89-07 std HD 20-1153
Axle Yam Raptor 660 '01-05/Blstr '88-06/Kasea 170/250 '89-07 Elim 20-1153p
Axle Yam Rap700 '06-10 Elim-std 20-1154p
Axle Yam Rap700 '06-10 Elim 2+2 20-1154sp
Axle Yam Rap700 '06-10 std HD 20-1154
Axle Yam Rap700 '06-10 Elim X-33 w/billet hubs 20-2154ex
Axle Yam Rap700 '06-10 Elim-X33 w/cast hubs 20-1154ex
Axle Yam Twolf '92-02 Elim 20-1152p
Axle Yam War 350 '86-04 Elim 2+2 20-1141sp
Axle Yam War 350 '86-04 std HD 20-1141
Axle Yam War 350 '86-04 X33 w/billet hubs 20-2141ex
Axle Yam War 350 '86-04 X33 w/cast hubs 20-1141ex
Axle Yam Wolv 350 '95-05 Elim 20-1147p
Axle Yam Wolv 350 '06-09/Kodiak '03-04 Elim 20-1167p
Axle Yam Wolv 450 '06-10/Kodiak '00-02 Elim 20-1149p
Axle Yam yfz450 '04-09 Elim 2+2 20-1128sp
Axle Yam yfz450 '04-09 std HD 20-1128
Axle Yam yfz450 '04-09 std Elim 20-1128p
Axle Yam yfz450 '04-09 Elim X-33 w/billet hubs 20-2128ex
Axle Yam yfz450 '04-09 Elim-X33 w/cast hubs 20-1128ex
Axle Yam yfz450r '09-10 2-2/yfz450x '10 2+2 Elim 20-1172sp
Axle Yam yfz450r '09-10/yfz450x '10 Elim-X33 w/cast hubs 20-1172ex
Axle Yam yfz450r '09-10/yfz450x '10 Elim-X33 w/billet hubs 20-2172ex

Filters-Power

Filter-Power Air Arctic Cat Prowler 650 H.I. '08/650 H.I. '08-09/700 H.I. '09/Prowler 700 '08 8606

Filter-Power Air Arctic Cat 400 TRV, TBX, FIS '05-08/500 TBX, FIS '05-09/500 TRV auto 
'06/650 V-Twin '04-06/Prowler 650 H.I. '06-07/650 H.I. '05-07

8603

Filter-Power Air CanAm-DS250 '06-10 8702
Filter-Power Air-CanAm DS450 '08-10 8705
Filter-Power Air CanAm-DS650 '00-07 8701
Filter-Power Air CanAm-Outlander 500 '07-09/650 '06-09/800 '06-08/Renegade 800 EFI '07-08 8703

Filter-Power Air Hon-Rubicon 500 '00-10/Rincon 650 '03-05/Rincon 680 '06-10/Forman 500 '05-10/Big Red 700 '09-10 4134

Filter-Power Air Hon-trx250r '86-89 1102

Filter-Power Air Hon-trx250x '87-92/trx300ex '93-08/trx300x '09-10 1109



Filter-Power Air Hon-trx400ex '99-08/trx400x '09-10/trx450r '04-05 1126
Filter-Power Air Hon-trx450r '06-10 1140
Filter-Power Air Hon-trx90 '93-10 4127
Filter-Power Air Kasea/China ATV-all 8801
Filter-Power Air Kaw-kfx450r '08-10 2332
Filter-Power Air Kaw-Mojave '87-04/Lakota '95-98 1362
Filter-Power Air Kaw-kfx 700 '03-09/Brute Force 650 '05-10/Prairie 650 '03/Prairie 700 '04-06 2393

Filter-Power Air Kaw King Quad 450 '07-09/King Quad 700 '05-07/King Quad 750 '08-09 2486

Filter-Power Air KTM 450XC '09-10/450SX '09-10/505SX '09-10/525XC '08-10 1415
Filter-Power Air Polaris-Trailblazer 250 '90-00/Trailboss 250 '87-99/Xplorer '95-00/Xpress '96-99 8501

Filter-Power Air Polaris-Outlaw 525 IRS '07-10 8512

Filter-Power Air Polaris-Predator 50 '03-06/Predator 90 '03-06/Scrambler 50 & 90 '01-03/Sportsman 90 '01-06 8508

Filter-Power Air Polaris-Predator 500 '03-07 8506
Filter-Power Air Polaris-RZR 800 '08-10 8513
Filter-Power Air Polaris-Scambler '95-99/Scrambler 400 '96-02/Sport 400 '97-99/Magnum '95-99/Xplorer 400 4x4 '99-00/Big 
Boss 500 '98-99/Trailblazer 400 '96-97

8502

Filter-Power Air Polaris-Sprtmn 325 to '00/Sprtmn-all '96-09/Trailboss 325 '00/Xpedition 325-425 '00-02/Scambler 500 '99-
10/Magnum 325 '00/Magnum 500 '99-02

8503

Filter-Power Air Polaris-Trailboss (all) '01-10/ATP '04-05 8505
Filter-Power Air Polaris-Sportsman 300 '08-09/Trailblazer '01-06/Magnum 325 '01-02/Xplorer '01-02/Hawkeye '06-08/Phoenix 
'06-09/Sawtooth '06-07

8504

Filter-Power Air Suz-lt80 '87-06-ea 2471
Filter-Power Air Suz-ltr450 '06-09 2489
Filter-Power Air Suz-lt-z250 '04-09/Ozark '03-09 2485

Filter-Power Air Suz-Suz King Quad 400 '08-09/lt-z400 '03-09/Suz Eiger '02-08/Suz Vinson '02-07/Kaw kvf400 '03-06/Arctic 
Cat DVX 400 '04-07

2483

Filter-Power Air Yam-Rap700 '06-10 replacement filter only (1955k kit) 1955

Filter-Power Air Yam-Rap700 '06-10-kit (clamp-on filter and mounting plate) 1955k
Filter-Power Air Yam-Rap700 '06-10 mounting plate only (use 1955 filter) 1955pl
Filter-Power Air Yam-yfz450 '04-09 replacement filter only (1995k kit) 1995
Filter-Power Air Yam-yfz450 '04-09 kit (clamp-on filter and mounting plate) 1995k
Filter-Power Air Yam-yfz450 '04-09-stock replacement 3252

Filter-Power Air Yam-yfz450 '04-09 mounting plate only (use 1995 filter) 1995pl

Filter-Power Air Yam-Rap350 '05-10/Grizzly 660 '02-08 3244
Filter-Power Air Yam-Banshee 350 '87-06 replacement filter (1965k kit) 1965
Filter-Power Air Yam-Banshee 350 '87-06 kit (clamp-on filter and mounting plate) 1965k

Filter-Power Air Yam-Banshee 350 '87-06 mounting plate only (use 1965 filter) 1965pl
Filter-Power Air Yam-Ban 350 '87-06 Prefilter (1965 filter) 1965pf
Filter-Power Air Yam-Banshee 350 '87-06-stock replacement 1297
Filter-Power Air Yam-Blaster '89-06/Breeze-'89-04 3225
Filter-Power Air Yam-Grizzly 350 '07-10/Grizzly 400/450 '07-08/Wolv 350 '06-09/Wolv 450 '06-10 3258

Filter-Power Air Yam-Rap250 '08-10/Grizzly 125 '04-10 3213
Filter-Power Air Yam-Rap50 '05-08/Rap 80 ' 03-08/Grizzly 80 '05-08 3249
Filter-Power Air Yam-Rap660 '01-05 1966
Filter-Power Air Yam-Rap660 '01-05 replacement filter (1985k kit)-ea 1985
Filter-Power Air Yam-Rap660 '01-05 two clamp-on filters and mounting plate 1985k



Filter-Power Air Yam-Raptor '01-05 mounting plate only (use 1985 filters) 1985pl
Filter-Power Air Yam-Rap700 '06-10 3256
Filter-Power Air Yam-Rhino 700 '08-09 3214
Filter-Power Air Yam-Timberwolf '92-00/Big Bear '87-99/Kodiak '93-99 3232

Filter-Power Air Yam-Warrior '86-05/Wolverine '95-05/Rap350 '05-10/Griz660 '02-08 mounting plate only (use 1975 filter) 1975pl

Filter-Power Air Yam-Warrior '86-05/Wolverine '95-05/Rap350 '05-10/Griz660 '02-08 replacement filter only (1975k kit) 1975

Filter-Power Air Yam-Warrior '86-05/Wolverine '95-05/Rap350 '05-10/Griz660 '02-08 clamp-on filter and mounting plate 1975k

Filter-Power Air Yam-Warrior '86-05/Wolverine '95-05/Grizzley '98-01 oem 1295

Hardware
Hardware Anti-roll bracket 20-1700-pr 20-1703
Hardware Anti-roll bracket 20-1700p-pr 20-1718
Hardware Anti-roll bracket 20-1700s-pr 20-1716
Hardware Anti-roll bracket 20-1700a & 20-1700y-pr 20-1714
Hardware Anti-roll bushings-ea 20-1702
Hardware Heim Joint-LH-ea 20-1708
Hardware Heim Joint-RH-ea 20-1713
Hardware Anti-roll small parts kit 20-1701
Hardware Anti-roll small parts kit for 20-1700a 20-1701abk
Hardware Anti-roll small parts kit for 20-1700k 20-1701k
Hardware Anti-roll small parts kit-Polaris 20-1700p 20-1701p
Hardware Anti-roll small parts kit-Polaris 20-1700h 20-1701h
Hardware Anti-roll torsion arm-ea 20-1705
Hardware Anti-roll torsion bar only 20-1704
Hardware Anti-roll torsion bar only+3" 20-1704el
Hardware Anti-roll Tube Housing-ea 20-1707
Hardware Anti-roll Tube Housing+3"-ea 20-1707el
Hardware Anti-roll turn buckle+1" extra long-ea 20-1706l
Hardware Anti-roll turn buckle-hex rod down link-ea 20-1706
Hardware Anti-roll turn buckle-5" long-ea 20-1706s
Hardware Bearing-BAH/RAH/27AH ball brg-ea 20-1710
Hardware Bearing-HAH-B/HAH450/HAX/WAH/RAH700/qr450ah/YAH/YAH450-ball-ea 20-1607
Hardware Bearing-Kaw Axle 20-1144 series-ball-ea 20-1662
Hardware Bolt 20-1600/01/40/43 20-1600b
Hardware Bolt Kit for 20-1004 20-1004bk
Hardware Bolt Kit for 20-1070 & 20-1021 20-1070bk
Hardware-bolt Kit 1965k, 1975k, 1985k 1965bk
Hardware-Bolt Kit 1995k 1995bk
Hardware Bolt Kit-2.5" GL spacer-8 pc 20-1609a
Hardware Bolt Kit-2.5" GL315 spacer-8 pc 20-1609t
Hardware Bolt Kit-20-1002 20-1002bk
Hardware Bolt Kit-20-1003 20-1003bk
Hardware Bolt Kit-20-1005 20-1005bk
Hardware Bolt Kit-20-1006, 20-1066, 20-1015, 20-1010 20-1006bk
Hardware Bolt Kit-20-1008 20-1008bk
Hardware Bolt Kit-20-1009 20-1009bk
Hardware Bolt Kit for 20-1013 20-1013bk



Hardware Bolt Kit-20-1350 wheel hub-8 pc 20-1609c
Hardware Bolt Kit-27AH-ea 20-1715
Hardware Bolt Kit-350x sprocket-4 pc 20-1625
Hardware Bolt Kit-8x20mm-3 pc 20-1601bk
Hardware Bolt Kit-BAH-ea 20-1712
Hardware Bolt Kit-Yam Blaster GL100-8 pc 20-1609b
Hardware Bolt Kit-85mm-kit-GL-Arctic Cat-8 pc 20-1609ac
Hardware Bolt Kit-Polaris/Kaw-GL101-8 pc 20-1609k
Hardware Bolt Kit-GL101f-8 pc 20-1609pf
Hardware Bolt Kit-Artic Cat-GL115f-60mm-kit 20-1609bc
Hardware Bolt Kit-gl155f-8 pc 20-1609f
Hardware Bolt Kit-GL166-8 pc 20-1609s
Hardware Bolt Kit-Polaris-GL110fp-8 pc 20-1609ef
Hardware Bolt Kit-Polaris-GL110p-8 pc 20-1609e
Hardware Bolt Kit-Polaris-GL156-8 pc 20-1609d
Hardware Bolt Kit-Polaris-GL156f-8 pc 20-1609p
Hardware Bolt Kit-Raptor skid plate/23-1045-ea 23-1045bk
Hardware Bolt Kit-wheel hub bolt 10mm 1.25 pitch-shcs-8 pc 20-1620s
Hardware Bolt Kit-WAH-ea 20-1629
Hardware Bolt Kit-wheel hub bolt 10mm 1.25 pitch-8 pc 20-1620
Hardware Bolt Kit-wheel hub bolt 10mm 1.5 pitch-shcs-8 pc 20-1653
Hardware Bolt Kit-X33 wheel hub driver-ea 20-1615
Hardware Bolt Kit-Z400ah z400bk
Hardware Brg/Seal Rebuild Kit-20-1017 27-1093
Hardware Brg/Seal Rebuild Kit-20-1019 27-1116
Hardware Brg/Seal Rebuild Kit-das-8h 27-1048
Hardware Brg/Seal Rebuild Kit-das-9h 27-1121
Hardware Brg/Seal Rebuild Kit-das-r 27-1096
Hardware Brg/Seal Rebuild Kit-das-y 27-1002
Hardware C-Clip-Ban/Raptor/Blaster-2/axle-ea 20-1604
Hardware C-Clip-oem Honda/Durablue Posi*Lock-ea 20-1624
Hardware C-Clip-Honda Sprocket Flange/Yam Warrior retainer 20-1617
Hardware C-Clip-Yam yfz450/KTM-ea 20-1650
Hardware C-Clip-Yam/Suz/Kaw-Posi*Lock 20-1614
Hardware Capture Collar-Yam Warrior/KTM-ea 20-1606w
Hardware Capture Collar-Yam Banshee/Raptor/Hon 3 wheeler axle-ea 20-1606b
Hardware Cotter Pin 1/8" x 1 1/2"-ea 20-1649
Hardware Hub Ring-Polaris Predator 20-1619p
Hardware Hub Ring-KTM 450XC/525XC 20-1619k
Hardware Hub Ring-thick-lg dia 20-1608b
Hardware Hub Ring-thick-sm dia 20-1608
Hardware Hub Ring-thin-lg dia 20-1619b
Hardware Hub Ring-thin-sm dia 20-1619
Hardware Locator Ring-Blaster 20-1616
Hardware Nut-Posi*lock-2 1/4-alum 20-1603a
Hardware Nut-Honda Posi*lock-2 1/4" 20-1621
Hardware Nut-Posi*lock-2 1/4-steel 20-1603s
Hardware Nut-Posi*lock-2 1/4-steel; fits 20-1627, 20-1628 20-1621s
Hardware Screw for Posi*lock-1/4"-20 20-1638
Hardware Screw for Posi*lock-10-32 20-1638a



Hardware Seal-20-1148p-ea 20-1717
Hardware Seal-BAH/RAH-ea 20-1711
Hardware Seal-HAH-B/HAH450/HAX-ea 20-1618
Hardware Seal-WAH-b/ksf450ah-dbl row ball bearing-ea 20-1709b
Hardware Seal-WAH (Timken bearings)-ea 20-1709
Hardware Seal-YAH/YAH450/RAH700/27AH-ea 20-1660
Hardware Seal-z400ah/qr450ah-ea 20-1661
Hardware Sleeve-20-1005 20-1005s
Hardware Sleeve-threaded inner Honda Posi*Lock (20-1627)-ea 20-1623
Hardware Sleeve-threaded inner-Honda Posi*Lock (20-1628)-ea 20-1622
Hardware Sleeve-threaded inner Banshee/Raptor/Blaster Posi*Lock (20-1635)-ea 20-1605
Hardware Sleeve-threaded inner-Posi*Lock-ea 20-1613
Hardware Sleeve-threaded inner-Suz lt-r450 '06 (20-1644)-ea 20-1647
Hardware Sleeve-threaded inner-Yam YFZ450 '04-06 (20-1651)-ea 20-1652
Hardware Bolt Sleeves GL spacer-ea 20-1630
Hardware Spacer-20-1700a kit-ea (4 per kit) 20-1665
Hardware Spacer-20-1700h kit-ea (2 per kit) 20-1666
Hardware Spacer-20-1700p kit (2 per kit) 20-1719
Hardware EZ Stud Extender-1.5"-ea 20-1611
Hardware EZ CanAm Stud Extender-1 1/2"-ea 20-1646
Hardware EZ Polaris Stud Extender-1 1/2"-ea 20-1631
Hardware EZ Stud Extender-2.5"-ea 20-1610
Hardware EZ Stud Extender 12mm-2.5"-ea 20-1610-12
Hardware EZ Polaris Stud Extender-2 1/2"-ea 20-1642
Hardware EZ Stud Extender-8mm-2.5"-ea 20-1610-8
Hardware Tube for BAH-ea 20-1611b
Hardware Tube for HAH-B-ea 20-1611r
Hardware Tube for HAH450-ea 20-1611t
Hardware Tube for HAX-ea 20-1611x
Hardware Tube for YAH-ea 20-1611y
Hardware Zerk fitting, struts-ea zerk

Hubs-Disc Brake
Hub Disk Hon trx450r '04-10-alum (fits all) 450br
Hub Disk Kaw kfx450 '08-10-alum (fits all) 71br
Hub Disk Suz lt-r450 '06-09-alum (fits all) qr450br
Hub Disk Suz lt-z400 '09-alum (fits all) 57br
Hub Disk Suz Qrcer 250 '85-95/Qsprt '85-86-3 bolt-alum (fits Durablue axles only) qr250sp
Hub Disk Suz Qsprt '87-96-4 bolt-alum (fits Durablue axles only) qs250sp

Hub Disk Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-alum (fits Durablue axles only) z400sp

Hub Disk Yam Banshee '87-06-alum (fits all) 350br
Hub Disk Yam Rap250 '08-10/Rap350 '06-10-alum (fits all) 27br
Hub Disk Yam Raptor 660 '01-05-alum (fits all) 660br
Hub Disk Yam Rap700 '06-10/yfz450 '06-09-alum (fits all) 54br
Hub Disk Yam yfz450 '04-05-alum (fits all) 28br
Hub Disk Yam yfz450r '09-10/yfz450x '10-alum (fits all) 72br



Hubs-Sprocket
Hub Sprocket CanAm DS450 '08-10-alum (fits Durablue axles only) 652sp
Hub Sprocket CanAm DS450 '08-10-steel (fits Durablue axles only) 652sps
Hub Sprocket CanAm DS650 '00-03-alum (fits all) 650sp

Hub Sprocket Hon '82 250r/200x Elim axle-steel (fits Durablue axles only) 20025sp

Hub Sprocket Hon '83-84 250r Elim axle-steel (fits Durablue axles only) 25025sp

Hub Sprocket Hon 250r '85-alum (fits Durablue axles only) 85sp

Hub Sprocket Hon trx250x/trx300ex '87-08/trx300x '09-10-alum (fits Durablue axles only) 250xsp

Hub Sprocket Hon trx250x/trx300ex '87-08/trx300x '09-10-steel (fits Durablue axles only) 250xsps

Hub Sprocket Hon 350x '85-87-steel (fits Durablue axles only) 350xsps
Hub Sprocket Hon trx450r '04-10-alum (fits Durablue axles only) 69sp
Hub Sprocket Hon trx450r '04-10-steel (fits Durablue axles only) 69sps
Hub Sprocket Hon trx250r '86-89/trx400ex '99-08/trx400x '09-10-steel (fits Durablue axles only) 86sps

Hub Sprocket Hon trx250r '86-89/trx400ex '99-08/trx400x '09-10-alum (fits Durablue axles only) 86sp
Hub Sprocket Hon trx90ex '93-08/trx90x '09-10-alum (fits all) 90sp
Hub Sprocket Kaw kfx450 '08-10-alum (fits all) 71sp
Hub Sprocket Suz lt-z400 '09-alum (fits all) 57sp
Hub Sprocket Suz lt-r450 '06-09-alum (fits all) qr450sp
Hub Sprocket Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-alum (fits all) z400sh
Hub Sprocket Yam Ban '89-06-alum (fits all) 350bsp
Hub Sprocket Yam Rap250 '08-10/Rap350 '05-10-alum (fits all) 27sp
Hub Sprocket Yam Rap660 '01-05-alum (fits all) 660rsp
Hub Sprocket Yam Raptor 700 '06-10/yfz450 '04-09-alum (fits all) 28sp
Hub Sprocket Yam yfz450r '09-10/yfz450x '10-alum (fits all) 72sp

Hubs-Rear Wheel

Hubs Rear Wheel  CanAm DS450 '08-10 4x110-X33 axle-billet-pr
20-1033bc

Hubs Rear Wheel  Hon 4x110-X33 axle (Honda/Suz)-billet-pr 20-1033b
Hubs Rear Wheel Hon 4x110mm-X33 axle (Honda/Suz)-cast-pr 20-1033
Hubs Rear Wheel Hon 4x110mm-250r '85-86/trx250r '85-89/350x '85-87-25 spline-extended+1"-pr 20-1331x

Hubs Rear Wheel Hon 4x110mm-250r '85-86/trx250r '85-89/350x '85-87-25 spline-pr 20-1331

Hubs Rear Wheel Hon 4x110mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r-extended +1"-pr 20-1334x

Hubs Rear Wheel Hon 4x110mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r-pr 20-1334

Hubs Rear Wheel Hon 4x115mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r (Honda spline w/Yam wheel)-
pr

1334/115

Hubs Rear Wheel Hon 4x115mm-250r '85-86/trx250r '85-89/300x '85-87 (Honda spline w/Yam wheel)-pr 1331/115

Hubs Rear Wheel  Kaw 4x137-X33 axle-billet-pr 20-1037b
Hubs Rear Wheel Kaw Tecate/Mojave-24 spline 4x110 (Honda wheel)-pr 20-1347

Hubs Rear Wheel KTM 450XC/525XC '08-10 4x110mm-pr 1350/110k
Hubs Rear Wheel Polaris Outlaw 525s '08-10 (straight axle)-pr; includes 20-1881 billet lug nuts 20-1351

Hubs Rear Wheel Polaris Predator 500 '03-07 4x110mm (Polaris 23 sp w/Honda wheel)-pr 1350/110p



Hubs Rear Wheel Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 '98-10 4x101mm 23 sp-pr 20-1350

Hubs Rear Wheel Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 '98-10 4x110mm (Polaris 23 sp w/Honda 
wheel)-pr

1350/110

Hubs Rear Wheel Suz 230/250 4x130mm-24 spline-pr 20-1339

Hubs Rear Wheel Suz Qracer 250 '88-92/Qracer 500 5x130mm-26 sp-pr 20-5130

Hubs Rear Wheel Suz 5x130mm-X33 axle-cast-pr 20-1533
Hubs Rear Wheel Suz lt-z400 '09/lt-r450 '06-09 4x110mm-26sp-extended+1"-pr 20-1337x
Hubs Rear Wheel Suz lt-z400 '09/lt-r450 '06-09 4x110mm-26sp-pr 20-1337

Hubs Rear Wheel Suz 500 '87-90/Qracer 250 '88-92/Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07 4x110 (Suz 
26 spline w/Hon wheel)-pr

1341/110

Hubs Rear Wheel Suz Qracer 500 '87-90/Qracer 250 '88-92/Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07 
4x115 (Suz 26 spline w/Yam wheel)-pr

1341/115

Hubs Rear Wheel Suz Qracer 500 '87-90/Qracer 250 '88-92 (Suz 26 spline w/Honda wheel)/Z400 '03-08/Kaw kfx400 '03-
06/Arctic Cat DVX 400 '04-07-extended +1"-pr

1341/110x

Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr 20-1343bh
Hubs Rear Wheel Yam 4x115mm-X33 axle-billet-pr 20-1343b
Hubs Rear Wheel Yam 4x115mm-X33 axle-cast-pr 20-1343

Hubs Rear Wheel Yam Rap700 '06-10/yfz450 '04-09/yfz450r '09-10/yfz450x '10/Rap350 '05-10/Rap250 '08-10/Banshee '01-
06/Warrior '86-04/Rap660 01-05/ 4x110 (w/Honda wheel)-pr

1340/110

Hubs Rear Wheel Yam Rap700 '06-10/yfz450 '04-09/yfz450r '09-10/yfz450x '10/Rap350 '05-10/Rap250 '08-10/Banshee '01-
06/Warrior '86-04/Rap660 01-05-extended +1"-pr

20-1340x

Hubs Rear Wheel Yam Rap700 '06-10/yfz450 '04-09/yfz450r '09-10/yfz450x '10/Rap350 '05-10/Rap250 '08-10/Banshee '01-
06/Warrior '86-04/Rap660 01-05-pr

20-1340

Lowering Kits-Front

Lowering Kit Hon trx250r '86-89/trx400ex '99-08/trx400x '09-10-front 20-1002

Lowering Kit Hon trx250x/trx300ex '87-08/trx300x '09-10-front 20-1004
Lowering Kit Hon trx450r '04-10-front 20-1008
Lowering Kit Kaw kfx450 '08-10-front 20-1010
Lowering Kit Kymco 250 -'06-09-front 20-1012
Lowering Kit Suz lt-r450 '06-09-front 20-1015
Lowering Kit Suz Z400 '03-08/Suz lt-z400 '09/Suz lt-z250/Ozark lft250 '05-09/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-
front

20-1007

Lowering Kit Yam Banshee '91-06-front 20-1006
Lowering Kit Yam Blaster '88-06-front 20-1021
Lowering Kit Yam Raptor 660 '01-05-front 20-1066
Lowering Kit Yam Raptor 700 '06-10-front 20-1070
Lowering Kit Yam yfz450 '04-09-front 20-1009
Lowering Kit Yam yfz450r '09-10/yfz450x '10-front 20-1013

Lowering Kits-Rear
Lowering Rear Strut Hon trx250r '86-adjustable das-4h
Lowering Rear Strut Hon trx250r '87-89-adjustable das-7h
Lowering Rear Strut Hon trx250x/trx300ex '87-08/trx300x '09-10-rear 20-1005



Lowering Rear Strut Hon trx400ex '99-08/trx400x '09-10-adjustable*see 27-1048 for bearing/seal kit das-8h

Lowering Rear Strut Hon trx450r '04-10-adjustable*see 27-1121 for bearing/seal kit das-9h
Lowering Rear Strut Kaw kfx450 '08-10 U-Link non-adj 20-1011
Lowering Rear Strut Suz lt-r450 '06-09 U-Link non-adj 20-1018
Lowering Rear Strut Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07 U-Link non-adj*see 27-1093 for 
bearing/seal kit

20-1017

Lowering Rear Strut Suz lt-z 400 '09 U-Link non-adj 20-1027
Lowering Rear Strut Yam Banshee 350 '87-06-stepped adjustment*see 27-1002 for bearing/seal kit das-y

Lowering Rear Strut Yam Rap700 '06-10/Rap660 '01-05-adjustable*see 27-1096 for bearing/seal kit das-r

Lowering Rear Strut Yam yfz450 '04-09 U-Link non-adj*see 27-1116 for bearing/seal kit 20-1019
Lowering Rear Strut Yam yfz450r '09-10/yfz450x '10 U-Link non-adj 20-1020

Nuts-Axle End/Front Spindle
Nut Axle Hub - 14mm-ea 20-0014
Nut Axle Hub - 18mm-ea 20-0018
Nut Axle Hub - 20mm-ea 20-0020
Nut Axle Hub - 3/4-16 Pol-ea 20-0750
Nut Axle Hub - 7/8-14 Yam-ea 20-1602
Nut Axle Hub Alum Bullet-18mm-2 pc 20-1818
Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc 20-1818bl
Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc 20-1818b
Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc 20-1818g
Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc 20-1818r
Nut Axle Hub Alum Bullet-20mm-2 pc 20-1820
Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc 20-1820bl
Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc 20-1820b
Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc 20-1820g
Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc 20-1820r
Nut Axle Hub Alum Bullet-7/8-2 pc 20-1875
Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc 20-1875bl
Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc 20-1875b
Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc 20-1875g
Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc 20-1875r
Nut Spindle Frt Hub Alum Bullet-14mm-2 pc 20-1821
Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc 20-1821bl
Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc 20-1821b
Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc 20-1821g
Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc 20-1821r

Nuts-Wheel Lugs
Nut Wheel Lug Alum 10mm flat seat-8 pc 20-1881
Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc 20-1881r
Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc 20-1881b
Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc 20-1881g
Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc 20-1881bl
Nut Wheel Lug Alum 10mm taper seat-8 pc 20-1880
Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc 20-1880r



Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc 20-1880b
Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc 20-1880g
Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc 20-1880bl

Parking Brake Block Off
Parking Brake Block-Off Plate 92-1001
Parking Brake Block-Off Plate-BLUE anodize 92-1001b
Parking Brake Block-Off Plate-GOLD anodize 92-1001g
Parking Brake Block-Off Plate-RED anodize 92-1001r
Parking Brake Block-Off Plate-BLACK anodize 92-1001bl

Posi-Locks
Posi*Lock CanAm DS650 '00-07; balanced-3 pc-alum 20-1637
Posi*Lock CanAm DS650 '00-07; balanced-3 pc-steel 20-1637s
Posi*Lock Hon 250r '86-89/350x '85-87 (fits all)-3 pc 20-1627
Posi*Lock Hon 250r '86-89/350x '85-87 (fits all)-3 pc-steel 20-1627s

Posi*Lock Hon trx300ex '87-08/trx300x '09-10/trx400ex '99-08/trx400x '09-10/trx450r '04-10 (fits all)-3 pc 20-1628

Posi*Lock Hon trx300ex '87-08/trx300x '09-10/trx400ex '99-08/trx400x '09-10/450r '04-10 (fits all)-3 pc-steel 20-1628s

Posi*Lock Polaris (fits Durablue 20-1161p/sp)-pr 20-1645
Posi*Lock Suz lt-r450 '06-08/lt-z400 '09 (fits all)-3 pc 20-1644
Posi*Lock Suz lt-r450 '06-08/lt-z400 '09 (fits all)-3 pc-steel 20-1644s

Posi*Lock Suz Qrcr 250 '85-92/Qsprt '85-96/Z400 '03-08/Kaw KFX400 '03-06/Arctic Cat DVX400 '04-07 (fits all except 
Durablue Elim)-1 pc

20-1634

Posi*Lock Yam Banshee '87-06/Blaster '88-06 (fits all except Durablue Elim)-1 pc 20-1632
Posi*Lock Yam Banshee '87-06/Rap660 '01-05/Blaster '88-06/Rap250 '08-10/Rap350 '05-10/Kasea 170/250 '89-07 (fits 
Durablue Elim only)-3 pc

20-1635

Posi*Lock Yam Banshee '87-06/Rap660 '01-05/Blaster '88-06/Rap250 '08-10/Rap 350 '05-10/Kasea 170/250 '89-07 (fits 
Durablue Elim only)-3 pc-steel

20-1635s

Posi*Lock Yam Rap660 '01-05/Rap350 '05-10/Rap250 '08-10 (fits all except Durablue Elim)-1 pc 20-1639

Posi*Lock Yam Warrior '86-04/Kaw kfx450 '08-10 (fits all except Durablue Elim)-1 pc 20-1633

Posi*Lock Yam Rap700 '06-10/yfz450 '04-09 (fits Durablue Elim only)-3 pc 20-1651

Posi*Lock Yam Rap700 '06-10/yfz450 '04-09 (fits Durablue Elim only)-3 pc-steel 20-1651s

Posi*Lock Yam yfz450 '04-09/Rap700 '06-10 (fits all except Durablue Elim)-1 pc 20-1641

Posi*Lock Yam yfz450r '09-10/yfz450x '10 (fits Durablue Elim only)-3 pc 20-1654

Posi*Lock Yam yfz450r '09-10/yfz450x '10 (fits Durablue Elim only)-3 pc-steel 20-1654s

Posi*Lock Yam Warrior '86-05/Suz Qrcr 250 '85-92/Qsport '85-96/Z400 '03-08/Kaw kfx400 '03-06/Kaw kfx450 '08-10/ACat 
400 '04-07 (fits Durablue Elim only)-3 pc

20-1636

Posi*Lock Yam Warrior '86-05/Suz Qrcr 250 '85-92/Qsport '85-96/Z400 '03-08/Kaw kfx400 '03-06/Kaw kfx450 '08-10/ DVX 
400 '04-07 (fits Durablue Elim only)-3 pc-steel

20-1636s

Coming Soon***



Skid Plates-Hammerforce Composite

Skid Plate Hon trx400ex '99-08/trx400x '09-10 Hammerforce Composite-Swingarm-ea
23-1038

Skid Plate Hon trx450r '04-09 Hammerforce Composite-Swingarm-ea 23-1056***

Skid Plate Hon trx250x/trx300ex '87-08/trx300x '09-10 Hammerforce Composite-Swingarm-ea 23-1030
Skid Plate Yam Banshee '87-06 Hammerforce Composite-Swingarm-ea 23-1031
Skid Plate Yam Rap700 '06-09 Hammerforce Composite-Swingarm-ea 23-1055***

Skid Plate Yam yfz450 '06-09 Hammerforce Composite-Swingarm-ea 23-1057***

Stability Kit-Front Sway Bar and Wheel Spacers

Stability Kit Hon trx700xx '09-10-includes frt sway bar, frt & rear wheel spacers (parts may be purchased individually) 20-1802

Stability Kit Pol 500 '07/525 '07-10 IRS/S (straight axle)-includes frt sway bar, frt & rear wheel spacers (parts may be purchased 
individually)

20-1801

Wheel Spacers-alum
Spacers Alum 4x110mm CanAm DS450 (r)-1.5" EZ style -pr ws4110fc
Spacers Alum 4x110mm Hon/Suz/Yam/Kaw/KTM-1.5" EZ style -pr ws4110f
Spacers Alum 4x110mm early Hon using flat face lug nuts-2.5" - pr ws110
Spacers Alum 4x110mm late Hon using taper face lug nuts-2.5" -pr ws115
Spacers Alum 4x115mm Yam-2.5" -pr ws115y

Wheel Spacers-EZ Fit-UTV-alum
SpacersEZ 4x115mm Arctic Cat UTV Prowler-2.5" -pr utv4115
SpacersEZ 4x110mm Hon UTV Big Red-2.5" -pr utv4110h
SpacersEZ 4x137mm Kaw UTV Teryx-2.5" -pr utv4137
SpacersEZ 4x156mm Pol UTV  Ranger/RZR-2.5" -pr utv4156
SpacersEZ 4x110 mm Yam UTV Rhino-2.5" -pr utv4110y

Wheel Spacers-EZ Fit-Composite
SpacersEZ  3x100mm Hon/Yam-2.5" -pr 3100
SpacersEZ  3x100mm Kaw/Suz-2.5"-8mm -pr 3100-8
SpacersEZ  3x120mm Suz-2.5" -pr 3120
SpacersEZ 3x90mm Yam-Raptor 80-2.5"-8mm -pr 3090-8
SpacersEZ 4x100mm Yam-2.5" -pr 4100
SpacersEZ 4x110mm CanAm 450 (r)-1.5" -pr 4110fc
SpacersEZ 4x110mm Hon/Yam/Suz/Kaw/KTM-1.5" -pr 4110f
SpacersEZ 4x110mm Hon/Yam/Suz/Kaw/KTM-2.5" -pr 4110
SpacersEZ 4x110mm Kymco-1.5" -pr 4110fk
SpacersEZ 4x110mm Kymco-2.5" -pr 4110k
SpacersEZ 4x110mm Polaris rear-2.5" -pr 4110p
SpacersEZ 4x115mm Yam/A-Cat stud mount style 1.5" -pr 4115f
SpacersEZ 4x115mm Yam/A-Cat stud mount style 2.5" -pr 4115
SpacersEZ 4x130mm Hon/Suz-2.5" -pr 4130
SpacersEZ 4x137mm Kaw 1.5" -pr 4137f
SpacersEZ 4x137mm Kaw-2.5" -pr 4137



SpacersEZ 4x143mm CanAm DS650 '00-07 (f&r) 1.5" -pr 4143f
SpacersEZ 4x144mm CanAm 450 (f)-1.5" -pr 4144fc
SpacersEZ 4x144mm Hon/Suz/Kaw-1.5" -pr 4144f
SpacersEZ 4x156mm Kaw/Yam/KTM-1.5" -pr 4156f
SpacersEZ 4x156mm Kaw/Yam-2.5" -pr 4156
SpacersEZ 4x156mm Polaris-1.5" -pr 4156p
SpacersEZ 4x156mm Polaris-2.5" -pr 4156pw
SpacersEZ 4x85mm Hon/Yam-1.5"-pr 4085f
SpacersEZ 4x85mm Hon/Yam-2.5"-pr 4085
SpacersEZ 4x88mm Yam-2.5"-pr 4088-8
SpacersEZ 5x130mm Suz-2.5" -pr 5130

Wheel Spacers-Graph-Lite-Composite
SpacersGL 3x100mm Hon/Yam-2.5" -pr gl303
SpacersGL 3x120mm Suz 80-2.5" -pr gl315
SpacersGL 4x100mm Yam-2.5" -pr gl100
SpacersGL 4x101mm Polaris-1.5" -pr gl101f
SpacersGL 4x101mm Polaris-2.5" -pr gl101
SpacersGL 4x110mm Hon-1.5" -pr gl110f
SpacersGL 4x110mm Hon-2.5" -pr gl110
SpacersGL 4x110mm Polaris-1.5" -pr gl110fp
SpacersGL 4x110mm Polaris-2.5" -pr gl110p
SpacersGL 4x115mm A-Cat (bolt on style)-2.5" -pr gl115ac
SpacersGL 4x115mm Yam-2.5" -pr gl115
SpacersGL 4x115mm-A-Cat-1.5" -pr gl115f
SpacersGL 4x130mm Hon/Suz-2.5" -pr gl130
SpacersGL 4x144mm Hon-1.5" -pr gl145f
SpacersGL 4x156mm Polaris-1.5" -pr gl156f
SpacersGL 4x156mm Polaris-2.5" -pr gl156
SpacersGL 4x156mm Yam/Kaw-1.5" -pr gl155f
SpacersGL 4x156mm Yam/Kaw-2.5" -pr gl155
SpacersGL 4x166mm Suz-1.5" -pr gl166
SpacersGL 5x130mm Suz-2.5" -pr gl5130q


